
0

0.05

0.1

0.15

0.2

0.25

0.3

0.35

0.4

0.45

0.5

0.55

0.6

0.65

0.7

0.75

0.8

0.85

0 0.5 1 1.5 2 2.5 3

Hexachlorocyclopentadiene
Response Ratio

Concentration Ratio

      Response = 3.101e-001 * Amt - 9.844e-002
Coef of Det (r^2) = 0.996666   Curve Fit: Linear
Method Name:  Z:\svoasrv\HPCHEM1\BNA_P\Methods\8270E-BP041921.M
Calibration Table Last Updated: Tue Apr 20 02:04:17 2021
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Azobenzene
Response Ratio

Concentration Ratio

      Response = 2.260e+000 * Amt - 2.594e-001
Coef of Det (r^2) = 0.995277   Curve Fit: Linear
Method Name:  Z:\svoasrv\HPCHEM1\BNA_P\Methods\8270E-BP041921.M
Calibration Table Last Updated: Tue Apr 20 02:04:17 2021
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